Lecture I-1    K. Yokoya
Homework


1. The tunnel of the LEP (LHC) has a circumference of 26.7 km. The orbit radius in the bending magnet is 2.6 km in the proposed parameter of LEP3. 
1) How big is the synchrotron radiation loss of one electron in one turn?
2) How long is the cavity section if 20 MV/m is adopted?
3) [bookmark: _GoBack]If the total radiation power from all electrons is limited to 50 MW at electron energy of 120 GeV, how many electrons can be stored in the ring?
4) Give the advantages and disadvantages when one divides these electrons into n bunches.

